
Anbauanleitung / Mounting Instructions

1
Copyright by
SW-MOTECH GmbH & Co. KG & BAGS-CONNECTION GmbH & Co. KG

Irrtümer und Änderungen vorbehalten. Technische und Design-Änderungen vorbehalten.
Errors and omissions expected. Technical and design-modifications are subjects to change.

SW-MOTECH GmbH & Co. KG & BAGS-CONNECTION GmbH & Co. KG 

Ernteweg 8/10 · 35282 Rauschenberg / Germany
Tel. +49 (0) 64 25 / 81 68 - 00 · Fax +49 (0) 64 25 / 81 68 - 10

info@sw-bc.com · www.sw-bc.com 

Konfektionierung durch / Packaging by Datum der Konfektionierung / Date of Packaging



Stückliste / Parts List

2
Copyright by
SW-MOTECH GmbH & Co. KG & BAGS-CONNECTION GmbH & Co. KG

Irrtümer und Änderungen vorbehalten. Technische und Design-Änderungen vorbehalten.
Errors and omissions expected. Technical and design-modifications are subjects to change.

  (Alle Maßangaben in Millimeter / All measurements in millimeters)

   Artikel Part  N·m

 (1) GPT.11.283.002L Anbaublech (linke Seite) Mounting Bracket (left side) 1 

 (2) GPT.11.283.002R Anbaublech (rechte Seite) Mounting Bracket (right side) 1 

 (3) M8 x 55; DIN 7991 Senkkopfschraube; Schwarz Countersunk Screw; black 2 23

 (4) 18 / 8,2 / 18 Distanzbuchse Spacer 2 

 (5) M8 x 50; DIN 7991 Senkkopfschraube; Schwarz Countersunk Screw; black 2 23

 (6) 18 / 8,4 / 14 Distanzbuchse Spacer 2 

 (7) KUG.00.096.6319.D Kegelpfanne Conical Socket 8 

 (8) KUG.00.084.6319.C Kegelscheibe Conical Washer 4 

 (9) M8; DIN 6927 Mutter mit Bund, selbstsichernd; Schwarz Lock Nut with Flange; black 4 

 (10) GPT.00.283.030 ALU-RACK ALU-RACK 1 

 (11) M8 x 25; DIN 7991 Senkkopfschraube; Schwarz Countersunk Screw; black 4 20

 (12) SE.00.084.02 Senkscheibe; Schwarz Countersunk Washer; black 4 

 (13)  Bohrer; 9 mm Drill Bit; 9 mm 1 

 (14)  Senker; 19 mm Countersunk Drill Bit; 19 mm 1 

Nr.
No.

Anzahl
Qty.

Art.Nr. / Art.No.
Bezeichnung / Descripion



Montage / Mounting

3
Copyright by
SW-MOTECH GmbH & Co. KG & BAGS-CONNECTION GmbH & Co. KG

Irrtümer und Änderungen vorbehalten. Technische und Design-Änderungen vorbehalten.
Errors and omissions expected. Technical and design-modifications are subjects to change.



Montage / Mounting

4
Copyright by
SW-MOTECH GmbH & Co. KG & BAGS-CONNECTION GmbH & Co. KG

Irrtümer und Änderungen vorbehalten. Technische und Design-Änderungen vorbehalten.
Errors and omissions expected. Technical and design-modifications are subjects to change.


